
Year 11 History Revision – Paper 3 Russian & the Soviet Union 1917-41

Complete the History revision tasks and use the resources from your 
TEAMS file

Each task will have instructions and support for completing and will 
have suggested timings.

Completion of these tasks will boost your knowledge and 
understanding.



Russian Revolution Topic 1: The Revolutions of 1917.

For your topic 1 Russian Revolution revision 
complete the Lotus Grid. The grid is broken 
down into the 8 key areas, in each box you 
then need to add specific information. 

Attached is an example showing how to fill in 
the grid. You need to aim for as much 
information as possible. 

In order to complete the Lotus Grid effectively 
use your Cold War textbook, you should all 
have access to at least a PDF copy or this on 
your TEAMS section.   

On the next slide will be some page numbers 
to guide you on each area of your grid.

Here is an example of the Topic 1 Di area of the 
grid partly completed. This is the required 

standard, be specific, be clear.

Protests on 
International 
Women’s Day to  
food shortages!

People on 
unhappy with the 
Tsarina and 
Rasputin being left 
in Petrograd

Protests on 
International 
Women’s Day to  
food shortages
!

Army refuse to fire 
on protesters and 
switch sides. 

Tsar at the 
frontlines and 
unable to control 
situation

Unusually hot day 
causes more people 
to join growing 
protests



Russia Topic 1

Page Numbers from Textbook:

Early Russia in 1917: p9-16

Tsarist Rule: p9-17 

February Revolution: p17-22

Provisional Government: p23-30

June Offensive: p26

Kornilov Revolt: p27-28

July Days: p33

October Revolution : p34-36

Aiming High
Answer the following questions:
1. How did the First World War lead to 

the Tsar’s abdication in early 1917?
2. Explain why the Provisional 

Government was so weak between 
March and October 1917 (PEEL x3 
reasons)

3. Who was more important for the 
Bolsheviks seizing power in October, 
Trotsky or Lenin? Explain your answer 
by comparing them both and writing a 
conclusion





The following slides also contain the basic 
information you must know. You can use 

this to help fill in your Lotus Grid.



Russian In Early 1917 





The February 

Revolution 













Year 11 History Revision – Topic 2 The Bolsheviks in Power 1917-1924

Complete the clock to show the consolidation of Bolshevik power after the revolution (page 
42-74 in the main book & page 10/18 in the RG)

Early decrees, the execution of 
the Tsar & Brest -Litovsk.

The Red Terror, the 
Cheka & Totalitarianism 

Economic and 
Social Changes 

When:

What happened?

Why?

Consequences:

Exam Style Question:

“Explain why the Bolsheviks won the civil 
war" (12 marks)

You may use the following:
-Trotsky's role as an organizer 
-Disagreement amongst the White generals. 

Look on 
the next slide 
for a WAGOLL

When:

What happened?

Why?

Consequences:

When:

What happened?

Why?

Consequences:



Year 11 History Revision – Topic 2 The Bolsheviks in Power 1917-1924
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the Tsar & Brest -Litovsk.

The Red Terror, the 
Cheka & Totalitarianism 
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When:
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“Explain why the Bolsheviks won the civil 
war" (12 marks)

You may use the following:
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the next slide 
for a WAGOLL

When:

What happened?

Why?

Consequences:

When: 1918-24
What happened?
War Communism followed by the NEP
Why?
War communism to help Red Army win the Civil War.  
NEP to fix the problems and shortages created by 
War Communism.
Consequences: Red’s get enough resources to win 
the civil war, but most of the population see drop in 
living standards.  



Topic 3 –Russian & the Soviet Union 1917-41

Activity

Complete the Seneca assignment for Russian & the Soviet Union 
1917-41 Topic 3 & 4.
Complete ALL tasks

Aim for at least 70% average



Stalin’s Russia History: Question Practice 



Soviet History : Topic 4 Economic 7 Social Changes 

For Topic 4’s revision we are going to look at some exam questions to build our knowledge 
on how to answer the questions in our upcoming exam.

This is a very important part of your revision!

Activity

Complete the three questions on the upcoming slides. To help you 
answer the questions, use the following areas to support you:

• Russia & the Soviet Union textbook: Pages 110-140. 
• The PowerPoint Question breakdown slides

Aiming High?

Complete the upcoming questions without 
using the textbooks or your notes!



Question 1: Interpretations

Questions 3b & 3c are a double hit. The first question
“What is the difference” is fairly easy. However, many
students struggle with the second question “Why” are
they different.

You can use:

-Political
-Social
-Military
-Economic

As a an answer for what each
Int. is focusing on.

If this isn’t clear, you can also
explain what each Int.’s main
focus is e.g

“Int 1. focuses on Trotsky and
his weaknesses. On the other
hand Int2. is focused on Stalin
and his strengths.”

This is a 4 mark question, in
the exam only spend
around 5 mins or so
answering this. It doesn't
need a long answer!




